9 N Goodwin Ave, Ste 1A Elmsford, NY 10523 (914) 592-7455 info@suburbansunrooms.net www.suburbansunrooms.net



Estimate

ADDRESS

SHIP TO

ESTIMATE # 1031

Yonkers Public Schools

William Boyce Thompson

DATE 06/01/2023

1 Larkin Plaza

School

EXPIRATION DATE 07/01/2023

Yonkers, NY 10701

1061 North Broadway Yonkers, NY 10701

PO NUMBER

SALES REP

2023-00000349

Sergio

DESCRIPTION		QTY	RATE	AMOUNT	
The following materials and labor are proposed to replace the William Boyce Thompson School.	one glass panel at				
Room 121 - Library 1/4" Clear laminated over 1/4" LoE tempered - 32.50" x 4	40.875", 7/8 OA	1	575.00	575.00T	
Hardware Package - screws, glazing tape, setting blocks,	silicone sealant, etc.	1	34.95	34.95T	
Labor to replace one glass panel noted above 2 Men 4 Hours		8	275.00	2,200.00T	
	SUBTOTAL			2,809.95	
	TAX			0.00	
	TOTAL		\$2	.809.95	

Accepted By

9 N Goodwin Ave, Ste 1A Elmsford, NY 10523 (914) 592-7455 info@suburbansunrooms.net www.suburbansunrooms.net



Estimate

ADDRESS

Yonkers Public Schools 1 Larkin Plaza

Yonkers, NY 10701

SHIP TO

Barack Obama School for

Social Justice

201 Palisade Avenue Yonkers, NY 10703 **ESTIMATE # 1073**

DATE 08/03/2023

EXPIRATION DATE 09/03/2023

SALES REP

Sergio

DESCRIPTION		QTY	RATE	AMOUNT
The following materials and labor are proposed to replace panel at the Barack Obama School for Social Justice.	one broken glass			
Room 311 1/8" LoE temp over 1/4" clear laminated glass, 1" overall 31-1/4" Wide x 37-3/4" High White 1" flat grille (2W2H)		1	630.00	630.00T
Room 117 1/8" LoE temp over 1/4" clear laminated glass, 1" overall 32-3/4" Wide x 37-3/4" High White 1" flat grille (2W2H)		1	630.00	630.00T
Hardware Package - screws, glazing tape, setting blocks etc.	, silicone sealant,	2	34.95	69.90T
Labor to replace two broken glass panels 2 Men 8Hours		16	275.00	4,400.00T
	SUBTOTAL	***************************************		5,729.90
	TAX			0.00
	TOTAL		\$ 5	,729.90

Accepted By

9 N Goodwin Ave, Ste 1A Elmsford, NY 10523 (914) 592-7455 info@suburbansunrooms.net www.suburbansunrooms.net



Estimate

ADDRESS

Yonkers Public Schools 1 Larkin Plaza Yonkers, NY 10701 SHIP TO

Roosevelt High School 631 Tuckahoe Road Yonkers, NY 10710 ESTIMATE # 1074

DATE 08/03/2023

EXPIRATION DATE 09/03/2023

SALES REP

Sergio

DESCRIPTION		QTY	RATE	AMOUNT	
The following materials and labor are proposed to repla panel at Roosevelt High School at 631 Tuckahoe Road					
Across from library 1/4 Clear Lami (0.030 PVB interlayer)-1/4 Energy A - 33	3 5/8" x 82 3/8"	1	900.00	900.00T	
Hardware Package - glazing tape, screws, setting block	ks, silicone sealant, etc.	1	34.95	34.95T	
Labor - 3 Men 4 Hours Total Remove one glass panel Install a new LoE Argon glass panel Jobsite cleanup and cart away the debris		12	275.00	3,300.00T	
······	SUBTOTAL	*************		4,234.95	
	TAX			0.00	
	TOTAL		\$4	,234.95	

Accepted By

9 N Goodwin Ave, Ste 1A Elmsford, NY 10523 (914) 592-7455 info@suburbansunrooms.net www.suburbansunrooms.net



Estimate

ADDRESS

Yonkers Public Schools 1 Larkin Plaza

Yonkers, NY 10701

SHIP TO

Yonkers Public Schools 1 Larkin Plaza Yonkers, NY 10701 **ESTIMATE #** 1075

DATE 08/03/2023

EXPIRATION DATE 09/03/2023

SALES REP

SD

DESCRIPTION		QTY	RATE	AMOUNT	
The following materials are proposed to replace threegla 14 at 60 Crescent Place.	ass panels at School			0.00	
				0.00	
				0.00	
Room 1A				0.00	
1/4" LoE argon tempered over 1/4" clear laminated glaz 1/4" H	ing - 30 7/8" W x 33-	1	460.00	460.00T	
				0.00	
Hallway				0.00	
1/4" LoE argon tempered over 1/4" clear laminated glaz	ing - 23" W x 33-1/4" H	1	345.00	345.00T	
				0.00	
Entrance				0.00	
1/4" LoE argon tempered over 1/4" clear laminated glaz	ing - 23" W x 33-1/4" H	1	345.00	345.00T	
				0.00	
Hardware Package - silicone sealant, setting blocks, sci	ews, gaskets, etc.	3	34.95	104.85T	
				0.00	
Labor - 2 Men 8 Hours total		16	275.00	4,400.00T	
Remove three broken glass panels				0.00	
Install three new glass panels				0.00	
Jobsite cleanup and cart away the debris				0.00	
	SUBTOTAL			5,654.85	
	TAX			501.87	
	TOTAL		\$6	,156.72	

Accepted By

9 N Goodwin Ave, Ste 1A Elmsford, NY 10523 (914) 592-7455 info@suburbansunrooms.net www.suburbansunrooms.net



Estimate

ADDRESS

Yonkers Public Schools 1 Larkin Plaza

Yonkers, NY 10701

SHIP TO

Roosevelt High School 631 Tuckahoe Road Yonkers, NY 10710 **ESTIMATE** # 1095

DATE 09/14/2023

EXPIRATION DATE 10/14/2023

PO NUMBER SALES REP

2023-00000349 Sergio

	SUBTOTAL TAX TOTAL		\$2,	2,834.95 0.00 ,834.95
Labor to replace one damaged glass panel 2 Men 4 Hours		8	275.00	2,200.00
Hardware Package - screws, glazing tape, setting b	locks, and silicone sealant	1	34.95	34.95
Boy's Gym 1/8" LoE temp over 1/4" clear laminated glass. 1" ov 27-1/4" Wide x 30" High White 1" flat grille (3W2H)	verall	1	600.00	600.00
The following materials and labor are proposed to repanel at Roosevelt High School at 631 Tuckahoe R				
DESCRIPTION		QTY	RATE	AMOUNT

9 N Goodwin Ave, Ste 1A Elmsford, NY 10523 (914) 592-7455 info@suburbansunrooms.net www.suburbansunrooms.net



Estimate

ADDRESS

Yonkers Public Schools

1 Larkin Plaza

Yonkers, NY 10701

SHIP TO

Barack Obama School for

Social Justice

201 Palisade Avenue

Yonkers, NY 10703

ESTIMATE # 1096

DATE 09/14/2023

EXPIRATION DATE 10/14/2023

PO NUMBER 2023-00000349

SALES REP

Sergio

DESCRIPTION	QTY	RATE	AMOUNT
The following materials and labor are proposed to replace one panel at the Barack Obama School for Social Justice at 201 Pa	lisade Avenue.		
Room 110 1/8" LoE temp over 1/4" clear laminated glass, 1" overall 31-1/4" Wide x 37-7/8" High White 1" flat grille (2W2H)	1	600.00	600.00
Hardware Package - screws, glazing tape, setting blocks, & si	licone sealant 1	34.95	34.95
Labor to replace one broken glass panel 2 Men 4 Hours	8	275.00	2,200.00
SUI	BTOTAL		2,834.95
TAX	(0.00
TO	Γ AL	\$2	,834.95

9 N Goodwin Ave, Ste 1A Elmsford, NY 10523 (914) 592-7455 info@suburbansunrooms.net www.suburbansunrooms.net



Estimate

ADDRESS

Yonkers Public Schools 1 Larkin Plaza

Yonkers, NY 10701

SHIP TO

School 30

30 Nevada Place Yonkers, NY 10708 **ESTIMATE** # 1097

DATE 09/14/2023

EXPIRATION DATE 10/14/2023

PO NUMBER

2023-00000349

SALES REP

Sergio

SUBTOTAL TAX TOTAL		\$5	5,069.90 0.00 ,069.90
Labor to replace two damaged glass panels 2 Men 8 Hours	16	275.00	4,400.00
Hardware Package - glazing tape, screws, setting blocks, silicone sealant, etc.	2	34.95	69.90
Modular Classroom B I/8" LoE temp over 1/4" laminated glazing - 33-1/8" W x 14-3/4" H	1	300.00	300.00
Modular Classroom A I/8" LoE temp over 1/4" laminated glazing - 33-1/8" W x 14-3/4" H	1	300.00	300.00
The following materials and labor are proposed to replace two damaged glass panels at School 30 at 30 Nevada Place.			
DESCRIPTION	QTY	RATE	AMOUNT

9 N Goodwin Ave, Ste 1A Elmsford, NY 10523 (914) 592-7455 info@suburbansunrooms.net www.suburbansunrooms.net



Estimate

ADDRESS

Yonkers Public Schools 1 Larkin Plaza Yonkers, NY 10701 SHIP TO

PEARLS Hawthorne School 350 Hawthorne Avenue Yonkers, NY 10705 **ESTIMATE** # 1098

DATE 09/14/2023 **EXPIRATION DATE** 10/14/2023

PO NUMBER
2023-00000349

SALES REP
Sergio

DESCRIPTION		QTY	RATE	AMOUNT
		QIY	NAIE	AIVIOUNT
The following materials and labor are proposed to replace panels at PEARLS Hawthorne School at 350 Hawthorne				
Breezeway 1/4" LoE temp over 1/4" laminated glazing - 47-1/4" W x 5	51-1/4" H	1	850.00	850.00
Room 201 1/8" LoE temp over 1/4" laminated glazing - 43-3/8" W x 4 White 1" flat grille (3W2H)	I7-1/4" H	1	950.00	950.00
Room 205 1/8" LoE temp over 1/4" laminated glazing - 43-3/8" W x 4 White 1" flat grille (3W2H)	17-1/4" H	1	950.00	950.00
Room 219 1/8" LoE temp over 1/4" laminated glazing - 52-1/8" W x 4 White 1" flat grille (4W2H)	17-3/8" H	1	1,100.00	1,100.00
Hardware Package - glazing tape, screws, setting blocks	silicone sealant, etc.	4	34.95	139.80
Labor to replace four damaged glass panels 2 Men 16 Hours		32	275.00	8,800.00
	SUBTOTAL TAX			12,789.80
	TOTAL		M 4.0	
	IOIAL		\$12 ,	,789.80

9 N Goodwin Ave, Ste 1A Elmsford, NY 10523 (914) 592-7455 info@suburbansunrooms.net www.suburbansunrooms.net



Estimate

ADDRESS

Yonkers Public Schools 1 Larkin Plaza Yonkers, NY 10701 SHIP TO

Lincoln High School 375 Kneeland Avenue Yonkers, NY 10704 **ESTIMATE #** 1103

DATE 09/19/2023 **EXPIRATION DATE** 10/19/2023

PO NUMBER
2023-00000349
SALES REP
Sergio

DESCRIPTION		QTY	RATE	AMOUNT
The following materials and labor are proposed to repla Lincoln High School.	ce one glass panel at			
Room 139 1/4" Clear laminated over 1/4" Gray tempered - 45-3/4"	W x 18-5/8" H, 1" OA	1	350.00	350.00
Energy surcharge from vendor (10.00%)		1	35.00	35.00
Hardware Package - screws, glazing tape, setting block	s, silicone sealant, etc.	1	34.95	34.95
Labor to replace one glass panel noted above 2 Man 4 Hours		8	275.00	2,200.00
	SUBTOTAL			2,619.95
	TAX TOTAL		ውኃ	0.00
	· • · · · · · ·		Φ Ζ,	,619.95